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Answer ALL questions.

1 Chromatography can be used to separate the substances in a mixture.

(a) Diagram 1 shows the apparatus used to separate the different dyes in a food colouring. %
s
- =¥ ———1] ;8
bﬁ.ge_lihex ;
v
iy
. Par h er g
S B 1 A Ohanetogrephy B
80\ L M&/ \\ ‘\\ d
X j\
food colouring
o
Diagram 1 : f@;
The box lists some terms used in chromatography. %
=
baseline chromatography paper 5
solvent solvent front ’j:f
o
m
I

Use the terms from the box to label diagram 1.
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(b) Diagram 2 shows a chromatogram produced using four different food colourings,

P Q,RandS.
0
o 0
0
0 0 0 O
0O O
——0—0—0—
P Q R S P Q R S
start finish

Diagram 2

(i) Which food colouring contains only one dye?

O Nn W »r
w ™ O T

(ii) Which food colourings have one dye in common?

1 A PQandR
(] B PRandS$S
C QRandS
[l D PQRandS

(iii) Explain which food colouring contains the largest number of dyes.

P, Lok namber 0 opots.

(Total for Question 1 = 7 marks)
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2 The diagram shows the apparatus used to prepare carbon dioxide in the laboratory.

dilute hydrochloric acid delivery tube

i il N Hd

|

___gasjar

NN

—

calcium carbonate

(@) What is the name of the piece of apparatus containing the dilute hydrochloric acid?

[0 A burette

[J B pipette

X € tap funnel
[] D thistle funnel

(b) Complete the chemical equation for this reaction.

CaCO; + 2’ HCL —» CaCl, + CO, + HLD .....

(c) Which of these is a true statement about carbon dioxide?

L1 A itturns red litmus blue

X B it turns limewater milky

L] € itrelightsa glowing spill

[] D itburns with a squeaky pop
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(d) The diagram shows how carbon dioxide is collected by downward delivery in air.

(i) Give a reason why carbon dioxide can be collected by downward delivery in air.

(ii) Give another method of collecting carbon dioxide.

(e) When carbon dioxide dissolves in water, a weakly acidic solution forms.

Suggest a pH value for this solution.

(f) Carbon dioxide also forms when copper(ll) carbonate is decomposed by heating.

The equation for this reaction is

CuCOs(s) — CuO(s) + CO,(g)

State the change in colour of the solid when copper(ll) carbonate decomposes.

fomo Green e Bleck

(g) Suggest two properties of carbon dioxide that make it suitable for use in fire extinguishers.

1 Does ot Supperk combanshion

(Total for Question 2 = 11 marks)
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3 Ateacher investigates the reaction between sodium and water.

The teacher fills a trough with water.

She adds a few drops of litmus solution to the water, and then adds a piece of sodium.

sodium

water and litmus /
1 J

S |

(@) The sodium floats on the water. It reacts with the water and produces bubbles of
hydrogen gas.

(i) State two other observations that are made during the reaction.

(ii) Balance the equation for the reaction between sodium and water.

Include the state symbols.

LoNaS o+ ooy L NaOH(24-) + .. L. Hal.. G

(b) Lithium and potassium react in a similar way to sodium when added to water.

(i) State why they have a similar reaction in terms of the electronic configurations
of their atoms.

Both  conten one elechan it ouber sheM.

(ii) Place the elements lithium, potassium and sodium in order of reactivity.

| eriost reactive pO"U(SSI\(Am

cgc)&vm ..................................................................

least reactive L‘”ﬂ‘/ﬁm

AT

(Total for Question 3 = 6 marks)
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4 Use the Periodic Table on page 2 to help you answer this question.

(a) Which word correctly describes substances found in the Periodic Table?

[J A alloys
[] B compounds
X € elements

[l D mixtures

(b) The substances in the Periodic Table are arranged in order of increasing

Kl A atomic number
[l B mass number
[l € nucleon number

(] D relative atomic mass

(c) The table lists properties of some of the gases in Group 0 of the Periodic Table.

Gas Symbol  Boiling pointin K Reaction with metals
helium He <4 no reaction
neon M & 27 no reaction
argon Ar % O no reaction
krypton Kr 121 no reaction
xenon Xe 165 No (@o(/T\Z‘V\

Complete the table by giving
e the symbol for neon
e an estimate for the boiling point of argon

e the reaction of xenon with metals

10
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(d) The photograph shows an electric light bulb.

tungsten metal
filament

The tungsten filament becomes very hot when the light bulb is switched on.

Suggest why argon is a more suitable gas than air to use in the light bulb.

hes o~ full 0wt shell o

(Total for Question 4 = 7 marks)
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. 5 A student tries to make a pure, dry sample of hydrated cobalt(ll) chloride crystals.
He uses dilute hydrochloric acid and solid cobalt(ll) oxide.
This is the student’s method.
Step 1 pour about 50cm’ of dilute hydrochloric acid into a beaker
Step 2 warm the acid using a Bunsen burner
Step3 add a small amount of cobalt(ll) oxide and stir the mixture with a glass rod
Step4 add further small amounts of cobalt(ll) oxide until it stops reacting
Step 5 filter the final mixture and collect the filtrate in an evaporating basin
Step 6 leave the filtrate until all of the water has evaporated

His sample of cobalt(ll) oxide contains a small amount of a solid impurity that
dissolves in water, but does not react with the acid.

(a) State why it is not necessary to have a precise measurement of the volume of
hydrochloric acid in step 1.

focense ok of e UOL 13 uwsed o,

(b) State why the acid is warmed in step 2.

To ineresse fe e ok resction

(c) Suggest why a glass rod, rather than a metal spatula, is used to stir the mixture in step 3.

Blas wodk recet with The Sdwbiom,

(d) State how the student will know when the cobalt(ll) oxide stops reacting in step 4.

Solil lops diwgpeerng .

(e) State why the method used in step 6 will not produce a pure sample of hydrated
cobalt(ll) chloride crystals.

_The solmble :‘mpu(’l? u)u :30 e (JMSMJ— WIH\ Jﬁm.
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(f) Describe how the student could produce a pure, dry sample of crystals from the
filtrate in step 5.

Ueek the Silfrete, imhl er yslels §orm on fle

“ 944 oaL o qloss vod | leoye ﬂe Solwhen b c:caa(,,__.......
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Oﬂa, P or%f'vts with &l peper.
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(g) The table shows the formula and colour of three different types of cobalt(ll) chloride.

Formula Colour
Co(Cl, blue
CoCl,.2H,0 purple
CoCl,.6H,0 pink

When water is added very slowly to solid CoCl,, the colour of CoCl, changes from
blue to purple and then to pink.

(i) Write a chemical equation for the change from the purple solid to the pink solid.

(i) Which of these words describes the change taking place when the pink solid
is heated to form the blue solid?

crystallisation
dehydration

hydration

O O W O
O N @™ >

redox

(Total for Question 5 = 12 marks)
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' 6 Tests are done on a sample of a solid, X.

Solid X contains the ammonium ion, NH,", one other cation and one anion.

The table lists details of the tests done on solid X and the observations made for each test.

Test

1| Add dilute sodium hydroxide and warm

2 | Flame test

3 | A sample of solid X is dissolved in deionised water.
The solution is divided into three test tubes and the
following tests are done:

A to the first test tube, add dilute
hydrochloric acid

B to the second test tube, add dilute nitric acid
and a few drops of silver nitrate solution

C to the third test tube, add dilute
hydrochloric acid and a few drops of
barium chloride solution

(a) Identify the gas given off in test 1.

(b) Give the formula of the other cation present in solid X.

(c) (i) State what test 3A and test 3B tell you about solid X.

test 3A N‘SC"(IO@"\‘?’(ZF\O*’\PKQS%’}-
test 3B No}"\t? ll_lﬂ O~ pf@&énl"

(i) Identify the anion in solid X.

L—-.

Observation

gas given off, gas turns damp
litmus paper from red to blue

lilac coloured flame

no observable change

no observable change

white precipitate forms

(Total for Question 6 = 5 marks)
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7 Antimony, Sb, is an element in Group 5 of the Periodic Table.

The mineral, stibnite, contains antimony sulfide, Sb,S;

C
é Antimony can be obtained from stibnite in a two-stage process.

% Stage 1  stibnite is roasted in air

i Sb,S; + 50, — Sb,0, + 35S0,

: Stage 2  the oxide produced is heated with carbon to form antimony and carbon dioxide
) (a) (i) State why the sulfur in stage 1 is said to be oxidised.

:

(ii) Complete the equation for the reaction in stage 2.

Sb,0, + L C—- 2/ Sb + 7’ CO,

(b) Bismuth is another element in Group 5 of the Periodic Table.
Bismuth forms an oxide, Bi,O;, which has a giant ionic structure.

(i) Give the formula of the bismuth ion in bismuth oxide.

g "

(ii) Explain why bismuth oxide has a high melting point.

_Shrong. dledtro Sl Sorees befieen  oppositdy chospd.

J@OVWWMQ-

(iii) Bismuth oxide reacts with dilute hydrochloric acid to form bismuth chloride.

Write a chemical equation for this reaction.

(Total for Question 7 = 7 marks)

17
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8 Astudent investigates the rate of reaction between zinc and hydrochloric acid, using

an excess of zinc powder.

She uses this apparatus.

|1IFI|I|1|[I L R L R L AR L R L AR R ::ﬂ

. dilute hydrochloric acid
zinc powder

The student measures the volume of gas in the syringe every minute for ten minutes.

The table shows her results.

Time in minutes 0 1 2 3 4 5 6 7 8 9 10

Volume ofgasinem® 0 14 37 40 49 54 58 60 60 60 | 60

(@) (i) Plot the student’s results on the grid.

(i) Draw a curve of best fit.

r
r
AN

<

60 —

T
50
40 -
X
Tv'olun;e of gas 30 -
incm
20 -
10
0 T 1 T T 1 T T T 1
0 1 2 3 4 5 6 7 8 9 10
Time in minutes
18
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(b) The result at two minutes is anomalous.

(i) Suggest a mistake that the student could have made to produce this
anomalous result.

Mec:w%WLvme/OaL@é(ﬁM

(i) Use your graph to estimate the volume of gas that was given off at two minutes.

Show clearly on your graph how you obtain your answer.

volume ofgas=...... Zq ..................................... cm

(c) Explain why the last four readings for the volume of gas are the same.

Th&f@@f/ﬁbﬂ’w&h@dbecws'lf«‘/’(oc}mml

(d) (i) State how the graph shows that the rate of reaction decreases during the first
seven minutes.

(i) Explain, in terms of the particle collision theory, why the rate of reaction
decreases during the first seven minutes.

Fewer patides od it enk zine to yecct.
Fewer  Success i collisians per Second

(Total for Question 8 = 11 marks)
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9 This apparatus is used to test whether magnesium, solid magnesium chloride and an
aqueous solution of magnesium chloride conduct electricity.

+| -
|
i
carbon rods
The table shows the results.
Substance Conducts electricity
magnesium yes
solid magnesium chloride no
aqueous solution of magnesium chloride yes

20
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Explain these results, with reference to the type of particles in each substance.

mo?fné’sflfm 0417

9111

‘W@mww#&LwMUWMMMMWMQL]

(91 P C’A p 06 '% ez
ey T

e bree. & move  n salvhn .

(Total for Question 9 = 6 marks)
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10 Bromine is a red-brown liquid at room temperature.
Liquid bromine forms a brown gas when warmed.

(a) Explain what happens to the bromine molecules when liquid bromine is warmed
to form a gas.

ﬂ\ﬂ«w@faﬁzwwmdffﬁﬁmé(@fm(ﬁmwfﬁ
Mé—éomﬁ'@oLWM%copa WZ

(b) Bromine reacts with water to form a mixture of hydrobromic acid, HBr, and
hypobromous acid, HBrO.

Write a chemical equation for this reaction.

B tH,0 >HR-+MBO

(c) Hydrobromic acid reacts with magnesium carbonate to form a solution containing
magnesium bromide.

MgCOs(s) + 2HBr(agq) — MgBry(aq) + H,0(l) + CO,(g)

Crystals of hydrated magnesium bromide, MgBr,.6H,0, can be obtained from this solution.

MgBr, + 6H,0 — MgBr,.6H,0

(i) An excess of hydrobromic acid is reacted with 0.125 mol of magnesium carbonate.

Show, by calculation, that the maximum theoretical mass of hydrated
magnesium bromide that can be made is 36.5g.

ﬂ(maw})foflls ML I’loﬂl?ﬁrt) > 0.1 75 mel
g n(mgﬁq*bwad)z 0 .VZSemel_

m=nM- O.l’LSX'Z"’W—:Se-Sg

22
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(i) In an experiment using 0.125 mol of magnesium carbonate, with an excess of
hydrobromic acid, the mass of hydrated magnesium bromide obtained is 26.4g.

Suggest two reasons why the actual mass obtained is less than the maximum
theoretical mass.

.Oolufien not el for long. emoudh. ...

zmapke&mfiwbmﬁter&tmpvm

(Total for Question 10 = 8 marks)

O
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11 Malachite is an ore of copper containing copper(ll) carbonate and several other compounds

that are insoluble in water.

You are supplied with several pieces of malachite, these chemicals and items of apparatus.
Chemicals: dilute sulfuric acid magnesium powder

Apparatus: beakers filter funnel and paper pestle and mortar

Describe how you would use the chemicals and the apparatus to obtain a sample of
copper from the malachite.

! Mﬁ(&olq':f'e V\SM? ﬂ‘ﬂ. IUQSHQ md W‘Grtffr

ol nHng f% Siler !rwno/t ond ouer. |

Colleat

_Coppes Jog Fillec «hg < Soluhitn agen.

(Total for Question 11 = 6 marks)
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12 Crude oil is a mixture of hydrocarbons.

Fractional distillation of crude oil and cracking of hydrocarbon fractions are two of
the processes used in an oil refinery.

(a) Which property of hydrocarbons is used to separate crude oil into fractions?

X A boiling point

[l B chemical reactivity
] € density

] D melting point

(b) These are the main fractions obtained from crude oil.

e bitumen
e diesel
e fuel oil

e gasoline
e kerosene

e refinery gases

(i) Give one use for the refinery gases.

(ii) Give one use for kerosene.

(iii) State which fraction is the most viscous.
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(c) Catalytic cracking is used to break down long-chain alkanes into shorter-chain alkanes
and alkenes.

() Name the catalyst used in industrial cracking.

(ii) State the temperature used in industrial cracking.

~ p00-T700°C

(iii) Tetradecane (C,4H;,) can be cracked to make ethene (C;H,) and only one other
hydrocarbon.

Write a chemical equation for this reaction.

Gy =2 N ¥ C M e

(iv) Draw the displayed formula of ethene.

(v) Name the polymer formed from ethene.

pélgf’/f”’we— o

(vi) Explain why this polymer is difficult to dispose of.

(Total for Question 12 = 11 marks)
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13 A student investigates the reaction between zinc and dilute sulfuric acid.
She uses this method.
e put 50cm’ of dilute sulfuric acid into a polystyrene cup
e measure the initial temperature of the acid
e add 2.0g of zinc to the acid and stir the mixture
e measure the temperature of the mixture after one minute

The student does the experiment three times. For each experiment, she uses the
same size pieces of zinc but different concentrations of sulfuric acid.

The diagram shows the temperatures for each experiment.

Experiment 1 s ¥ —20°C
5 = § |
1.0 mol/dm” H,SO, = =
—510°C —2710°C
L= L
initial temperature after
temperature one minute
Experiment 2 = 20°C =—=130°C
= =
1.5 mol/dm?* H,SO, ?: _
i L
—4—10°C —4—20°C
initial temperature after
temperature one minute
Experiment 3 s DRRE, =130
2.0mol/dm’ H,S0, =
E—10°C —ﬁE 20°C
initial temperature after
temperature one minute

28
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(a) Record the temperature readings in the table and calculate the temperature increase
for each experiment.

Give all values to the nearest 0.5°C.

Initial temperature Temperature after = Temperature increase
in°C one minute in °C in °C

experiment 1 | 6 5 I l 0' - D | 3 5 )
.experimentZ 6 . 0 | 2V D | (’ZLS 0
experiment 3 | 6 . S 7/7 S B [l nS

(b) Explain why the temperature increase changes as the concentration of the
sulfuric acid increases.

/ﬁ\@(@%onCCc%Mofe%rddy,Sbﬂﬂ’m@fmﬂt

29
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(c) The student does another experiment at the same initial temperature as experiment 3.
She uses the same size pieces of zinc but uses 25 cm’ of dilute sulfuric acid.
The acid is in excess in both reactions.

(i) Explain the effect, if any, of this change on the initial rate of reaction when
compared to experiment 3.

(i) Explain the effect, if any, of this change on the temperature increase when
compared to experiment 3.

G’recﬂ'&f < WNerease. Some. gmomt 64

(Total for Question 13 = 10 marks)
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14 Iron deficiency anaemia occurs when the body does not have enough iron(ll) ions.
Iron deficiency can be overcome by taking iron tablets.

A chemist wants to find out the percentage of iron(ll) ion (Fe*") in an iron tablet. E:;
She uses this method. E':
=

e weigh an iron tablet ?

e dissolve the tablet in an excess of dilute sulfuric acid

e titrate the solution with potassium permanganate solution, KMnQO, é
The table shows her results. %

mass of iron tablet 0.298g
concentration of KMnO, solution =~ 0.0200 mol/dm’

volume of KMnO, solution added  17.40cm’

(a) Calculate the amount, in moles, of KMnO, in 17.40cm’ of 0.0200 mol/dm’
potassium permanganate solution.

0-01740x0.0200 = 34 4 X6 Tmol

gy = CNVN 4
amount of KMnO, = 3487([0 mol

VAUV SIHL NI ZLIHM 10N 0a

(b) In the titration, 1 mol of KMnO, reacts with 5 mol of Fe*".

Calculate the amount, in moles, of Fe** in the iron tablet.

3.4 Ko xS = ).7%)00—3 Mal_

amount of Fe** = _.mol

MUY SIHE NI ION OO
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(c) Calculate the mass, in grams, of Fe** in the iron tablet.
[A, of Fe** = 56.0]

|. 74x07°xS6 = 0. 09744 9-
Mm=nN M,
mass of Fe** = OO‘?74' g

(d) Calculate the percentage by mass of Fe** in the iron tablet.

0.00L o w5y = 32T
0.19%

percentage of Fe*" = 527 %

(Total for Question 14 = 5 marks)

33
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15 A teacher uses this apparatus to demonstrate the electrolysis of molten zinc chloride.

lamp

positive electrode —__

/ negative electrode

\_—:j/ molten zinc chloride

A student records these observations.
e crystals of a shiny, grey solid form at one of the electrodes
e a pale green substance forms at the other electrode

e the lamp goes out after the teacher stops heating the zinc chloride

(a) State what is meant by the term electrolysis.

(b) State why graphite is more suitable to use for the electrodes than magnesium in
this electrolysis.

 Groghite oMl ndy recet with ohlohe.
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(c) Which of these is a correct statement for this electrolysis?

[] A the pale green substance is chloride
K B both products are elements
L1 € the pale green substance forms at the negative electrode

L] D the shiny grey solid is zinc chloride

(d) The student writes this ionic half-equation for the reaction that forms the
pale green substance.

2C1 + 2e” — 2l

Identify the two mistakes in her ionic half-equation.

(e) The lamp goes out after the teacher stops heating the zinc chloride, because
electrons are no longer flowing through the wires.

Explain why electrons are no longer flowing through the wires.

(Total for Question 15 = 8 marks)

TOTAL MARKS FOR PAPER = 120 MARKS

A

E‘ﬁmsmo‘r\”ﬂw%?&r&@

2 el ke Gy

L e tens. C,@nndé” Hod, o no lss or gan ok
@/{cefﬁws Mﬂ.es olace ot Hle @{éoﬁzﬂ&



!

JON Od

C

M L

=

UM

BLANK PAGE

'a.;‘:{_n",_.l,j's i 131

1
|

£l

1TON©O

HY STHL NFE3I LM

- |
s §

e
L 1

Every effort has been made to contact copyright holders to obtain their permission for the use of copyright material.
Pearson Education Ltd. will, if notified, be happy to rectify any errors or omissions and include any such rectifications in

future editions.

36



